
Math Numbers and Operations 3_9

Student Name:________________________________ Date:____________________

1. 

 =

A.

B.

C.
  

2. 

gray part = 

A. 2
4

B. 3
4

C. 1
4

3. 

Which is here?

A. 6
1

B. 2
6

C. 3
6

4. 

gray part = 

A. 5
6

B. 2
6

C. 4
6



5. 

1
5  = 2

10

 = 8
10

A. 4
5

B. 6
5

C. 10
10

  

6. 

Which show the same?

A. B & C

B. A & C

C. A & B

7. 

Which is here?

A. 2
4

B. 3
4

C. 1
4

8. 

 < 1

A. 5
4

B. 1
4

C. 4
4



9. 

B + C = 

A. 2
4

B. 3
4

C. 1
4

  

10. 

Which is here?

A. 3
4

B. 2
4

C. 1
4

11. 

4
2   1

A. =

B. <

C. >

12. 

Which is here?

A. 2
4

B. 3
4

C. 1
4



13. 

1 = 

A. 6
1

B. 6
6

C. 5
6

  

14. 

Which value is least?

A. 1
8

B. 1
4

C. 1
6

15. 

2
5   1

A. >

B. <

C. =

16. 

Which is here?

A. 3
2

B. 1
2

C. 2
2
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